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Note to the students:- All the Questions are compulsory and carry equal marks .      
	Q1. 
	Which of the following parameters can be obtained by tension test of a standard specimen?

	Option A:
	Proportional Limit 

	Option B:
	Yield Strength

	Option C:
	Percentage Reduction in area

	Option D: 
	Induced Stress

	
	

	Q2.
	Yield strength is defined as the maximum stress at which a marked increase in elongation occurs without increase in________

	Option A:
	Load

	Option B:
	Strength

	Option C:
	Toughness

	Option D:
	Hardness

	
	

	Q3.
	The centroidal and neutral axes of an initially curved beam are

	Option A:
	Intersecting

	Option B:
	Coincident

	Option C:
	Parallel

	Option D:
	Same

	
	

	Q4.
	The maximum stress in an initially curved beam is in the

	Option A:
	Innermost fiber

	Option B:
	Outermost fiber

	Option C:
	Centroidal axis

	Option D:
	Neutral axis

	
	

	Q5.
	A maximum of how many roads may be connected using a knuckle joint?

	Option A:
	2

	Option B:
	3

	Option C:
	4

	Option D: 
	5

	
	

	Q6.
	Calculate the diameter of pin from shear consideration with maximum shear stress allowed is 40NN/mm² and an axial tensile force of 50kN is acting on the rod.

	Option A:
	39 mm

	Option B:
	44 mm

	Option C:
	49 mm

	Option D: 
	52 mm

	
	

	Q7. 
	If knuckle joint is to fail by crushing failure of pin in fork, then determine the diameter of knuckle pin when 50kN axial tensile force act on rods. Given: Max allowable compressive stress=25N/mm², thickness of each eye of fork=25mm.

	Option A:
	40 mm

	Option B:
	50 mm

	Option C:
	60 mm

	Option D: 
	70 mm

	
	

	Q8. 
	In a steam engine, the valve rod is connected to an eccentric rod by means of

	Option A:
	Cotter joint

	Option B:
	Knuckle joint

	Option C:
	Universal joint

	Option D: 
	Flange coupling

	
	

	Q9.
	The basic series of preferred numbers are

	Option A:
	R5,R10, R20, R40 and R80

	Option B:
	R10,R20, R30,R40 and R50

	Option C:
	R5,R10,R15,R20andR25

	Option D: 
	R5,R10,R15,R25andR35

	
	

	Q10. 
	The external appearance is important in

	Option A:
	consumer durables like refrigerators and audiovisual equipment

	Option B:
	industrial products like cranes and hoists

	Option C:
	machine elements like gearbox

	Option D: 
	machine elements like pressurevessel

	
	

	Q11. 
	Stress concentration factor is defined as

	Option A:
	ratio of highest stress nearthe discontinuityto endurance limit

	Option B:
	ratio of highest stress nearthe discontinuityto yieldstrength

	Option C:
	Ratioofhigheststressnearthediscontinuitytonominalstress obtained by elementary equation

	Option D: 
	ratio of endurance limit tohighest stress near the discontinuity

	
	

	Q12. 
	Atransmissionshaftsubjectedtopurebendingmomentshouldbedesignedon the basis of

	Option A:
	maximum principal stress theory

	Option B:
	maximum shear stresstheory

	Option C:
	distortion energy theory

	Option D:
	Goodman orSoderberg diagrams

	
	

	Q13.
	Whenahelicalspringiscutintotwohalves,thestiffnessofeachhalf springwillbe,

	Option A:
	same as original spring

	Option B:
	double oforiginal spring

	Option C:
	half of original spring

	Option D: 
	one fourth of original spring

	
	

	Q14. 
	Thespring index is,

	Option A:
	ratio of wire diameter to meancoil diameter

	Option B:
	force per unit cross-sectional area of spring

	Option C:
	ratio of mean coil diameter to wire diameter

	Option D: 
	ratio of average coil diameter to meancoil diameter

	
	

	Q15.
	Distortionenergytheoryoffailure is applicable to

	Option A:
	components made of plain carbon steel

	Option B:
	components made of composites

	Option C:
	components made of cast iron

	Option D: 
	components made of non-metals

	
	

	Q16. 
	 which of following is include in power transmission

	Option A:
	Counter shaft 

	Option B:
	Line shaft

	Option C:
	Overhead shaft

	Option D: 
	All above 

	
	

	Q17.
	The maximum normal stress theory is used for

	Option A:
	Brittle material

	Option B:
	Ductile material

	Option C:
	Plastic material

	Option D:
	Nonferrous material

	
	

	Q18.
	For a proper design of a shaft , it should be designed on the basis of

	Option A:
	Maximum principal stress theory 

	Option B:
	Maximum shear stress theory

	Option C:
	Both a & b

	Option D: 
	Maximum strain theory 

	
	

	Q19. 
	A open coiled helical spring is subjected to axial force, the wire of the spring is subjected to

	Option A:
	Combined shear and bending only

	Option B:
	Combined shear and bending only

	Option C:
	Combined shear and twisting only

	Option D: 
	Direct shear only

	
	

	Q20.
	A leaf spring in automobiles is used

	Option A:
	To apply forces

	Option B:
	To measure forces

	Option C:
	To absorb shock

	Option D:
	To store strain energy

	
	

	Q21.
	Stiffness of spring s given by

	Option A:
	Load/stress

	Option B:
	Load/deflection

	Option C:
	Load/length

	Option D: 
	Load/diameter

	
	

	Q22. 
	 Line joining Syt (yield strength of the material) on mean stress axis and Se (endurancelimit of the component) on stress amplitude axis is called as ____

	Option A:
	Goodman line

	Option B:
	Soderberg line

	Option C:
	Gerber line

	Option D: 
	Fatigue line

	
	

	Q23.
	[bookmark: _GoBack]If yielding strength=400N/mm², the find the permissible shear stress according toASME standards.

	Option A:
	72 N/mm²

	Option B:
	76 N/mm²

	Option C:
	268 N/mm²

	Option D: 
	422 N/mm²

	
	

	Q24. 
	Woodruff key permits _____ movement b/w shaft and the hub.

	Option A:
	Axial

	Option B:
	Radial

	Option C:
	Eccentric

	Option D: 
	Transverse

	
	

	Q25.
	If a spring has plain ends then number of inactive coils is?

	Option A:
	1

	Option B:
	2

	Option C:
	3

	Option D: 
	0
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